ghipsmall

Chipsmall Limited consists of a professional team with an average of over 10 year of expertise in the distribution
of electronic components. Based in Hongkong, we have already established firm and mutual-benefit business
relationships with customers from,Europe,America and south Asia,supplying obsolete and hard-to-find components
to meet their specific needs.

With the principle of “Quality Parts,Customers Priority,Honest Operation,and Considerate Service”,our business
mainly focus on the distribution of electronic components. Line cards we deal with include
Microchip,ALPS,ROHM, Xilinx,Pulse,ON,Everlight and Freescale. Main products comprise
IC,Modules,Potentiometer,IC Socket,Relay,Connector.Our parts cover such applications as commercial,industrial,
and automotives areas.

We are looking forward to setting up business relationship with you and hope to provide you with the best service
and solution. Let us make a better world for our industry!

Contact us

Tel: +86-755-8981 8866 Fax: +86-755-8427 6832
Email & Skype: info@chipsmall.com Web: www.chipsmall.com
Address: A1208, Overseas Decoration Building, #122 Zhenhua RD., Futian, Shenzhen, China

iy [0



4 3 ’ 1

I e | T T REVISTONS
: ) PRJ-13-000001658
@ COPYRIGHT 20T Tyco Electronics AMP GmoH ALLE RECUTE VORBEHALTEN, 2120864 Size SO 14405 @ P LR AENEDSEELFJ%NIGPE:ION DATE DWN | APVD
BESCHRE IBUNG
A1 DRAW ING ACTIVATED 18JUN2014 | ER €S
B REV. PER PCN E-14-016181 300CT2014 | ER €S
R7 VARTANT 1--1 ADDED PER PCN E-16-004077 23MAR2016 | ER MS

Zﬁl MOUNTNG-CYCLE:
- APPLICATION SEE INSTRUCTION SHEET 411-185677

Zfl PART NOT SHOWN

3 PACKAGING
- CONNECTOR SET PACKED INTO BLISTER PACKAGE
- BLISTER PACKAGE PACKED [INTO CARTON

LOAPLICATION ACC. IEC 60076-3-17
AND INTERFACE DIM.

Zﬁl MONTAGE
- VERARBEITUNG SIEHE MONTAGEANWEISUNG 411-18567

Zfl TEIL NICHT DARGESTELLT

3 VERPACKUNG:
- STECKER SET IN BLISTERVERPACKUNG VERPACKT
- BLISTERVERPACKUNG IN KARTON VERPACKT

b ANWENDUNG NACH I1EC 60076-3-117
UND SCHNITTSTELLENMASSE

-1 AS SHOWN
T WIE GEZEICHNET

MASSE M ASSEMBLIERTEN ZUSTAND FMPFOHLENER BLECHAUSSCHNITT i TE
SCALE / M 3.2 SCALE 7/ M 3.2 B ORDER-NO.
N
=~ BESTELL-NR.
(38) (4L6.05)
— = — = = 20401 0.9 - - 1 7 | BLISTER PACKAGE ZZEX - PET
v — BLISTERVERPACKUNG - PET
o200 - (36.96) — o| v INSTRUCTION SHEET
LA E - - - 1 6 MONTAGEANW EI SUNG M . .
| . Y ROUND HEAD SCREW M3 - STEEL
| e (b N 7] - . % - - b 5 LINSENKOPFSCHRAUBE M3 . STAHL
i — B B L L, O-RING SEAL FOR [P67 PUSH PULL FRAME BLACK EPDM
! ! ' 0-RING DICHTUNG FUER P67 PUSH PULL RAHMEN SCHW ARZ SHORE 70
A i B B 1 3 FLAT GASKET FOR P67 PUSH PULL FRAME BLACK EPDM
i FLACH DICHTUNG FUER IP67 PUSH PULL RAHMEN SCHW ARZ SHORE 50
1 2 COUPLER, SL, INLINE, CATS5e, SHIELDED - -
‘ B B VERBINDER, SL, INLINE, CATSe, GESCHIRMT - -
— — = < B B FRAME, PUSH PULL, VARIANT 14 METAL 3-5um Ni OVER ZP0410
1 W
RN QA < RAHMEN, PUSH PULL. VARIANTE 14 METALL 8um Cu DIN 12833
o) O w LN o
L M o - A SURFACE
— — % % | H QUANTITY ITEM-NO. DESCRIPTION
N STUFCK POS. BENENNUNG OBERFLAECHE MATERIAL
:::::::Izii:: COLOUR/FARBE
2LSEP2013
1 THIS DRAWING 1S A CONTROLLED DOCUMENT. |DPYN - o
T\ DIMENSIONING AND TOLERANCING PER GPS (ISO STANDARDS) CHSK' e TLSEP2073 r—N TE TE Connectivity
! ity ! DIMENSIONS : TOLERANCES UNLESS M. STRELOW
| J/ MASSE INHE | TEN: OTHERWISE SPECIFIED: APVD 2LSEP2073 [ vame
il mm ALLGEME INTOLERANZEN (. SCHRETTLINGER VARTANT Mﬂ JACK METAL
! \_ J il Lhe 0 . VARIANTE 14, JACK METALL
E@ é Etg ji).Z APPLICA;ION SPEC [ATSQ? pASS TROUGHT
4 PLC + VERARBE ITUNGSSPEZ. SIZE | CAGE CODE | DRAWING NO RESTRICTED TO
NGL FS/W INKFL =2° - A 2 6@\2%%%126?29087q NUR FUER
MATERTAL FINTSH/OBERFLAECHE /FARBE WEIGHT
- - GEW ICHT 64 .40 00779 - -
_ B Customer Drawing /KUNDENZEICHNUNG |upsssrae 11 |aarr 1vw 6 | B2

1471-9 (3/13)




4 3 ’ 1

S A S B IS ———— | FELEAcED TOR PUBLICATION 207 VATED W ITH, PROJEKT R REVISIONS
v THIE FREI FUER VEROEFFENTLICHUNG PASSEND ZU: PRJ-13-000001656
(C) copyriGHT 201 Tyco Elect AMP b ALE RIGHTS RESERVED. S fscRreT
yeo Electronics m ALLE RECHTE VORBEHALTEN. 2120864 P LTR DESCRIPTION DATE DWN | APVD

BESCHRE IBUNG

- SEE SHEET 1 - - -

Zfl MOUNTNG-CYCLE
- APPLICATION SEE INSTRUCTION SHEET 4711-18569

Zfl PART NOT SHOWN

3 PACKAGING
- CONNECTOR SET PACKED INTO BLISTER PACKAGE
- BLISTER PACKAGE PACKED INTO CARTON

Y APLICATION ACC. IEC 60076-3-17
AND INTERFACE DIM.

Zﬁl MONTAGE
- VERARBEITUNG SIEHE MONTAGEANWETSUNG 411-18569

Zfl TEIL NICHT DARGESTELLT

3 VERPACKUNG:
- STECKER SET IN BLISTERVERPACKUNG VERPACKT
- BLISTERVERPACKUNG IN KARTON VERPACKT

b ANWENDUNG NACH [EC 60076-3-117
UND SCHNITTSTELLENMASSE

1--1 AS SHOWN
1--1 WIE GEZEICHNET

DIMENSTON N ASSEMBIED CONDITTON RECOMMENDED CUT OUT il
= TE
MASSE M ASSEMBLIERTEN ZUSTAND FMPFOHLENER BLECHAUSSCHNITT S ORDER-NO
SCALE / M 32 N '
SCALE /M 3:2 | 5 BESTELL-NR.
BLISTER PACKAGE - PET
(38) o L (LB.77) o EE - 20401 409 - - 1 I BLISTERVERPACKUNG A - PET
| B - | L INSTRUCT ION SHEET - )
B (20) N B (39.13) N o % _ - - 1 6 MONTAGEANW E| SUNG M - -
o L = o B B l, 0 ROUND HEAD SCREW M3 - STEEL
| By LINSENKOPFSCHRAUBE M3 - STAHL
> f o B B L L, O-RING SEAL FOR IP67 PUSH PULL FRAME BLACK EPDM
I / \ — ! A f‘ 0-RING DICHTUNG FUER P67 PUSH PULL RAHMEN SCHW ARZ SHORE 70
Q HT / i B B 1 3 FLAT GASKET FOR [P67 PUSH PULL FRAME BLACK EPOM
ﬂm — i FLACH DICHTUNG FUER P67 PUSH PULL RAHMEN SCHW ARZ SHORE 50
i Qy AN 1 ? AMP-TW IST 6AS SL JACK _ B
\J - - AMP-TW IST 6AS SL BUCHSE - -
< B B 1 1 FRAME, PUSH PULL, VARIANT 14 METAL 3-5um Ni OVER /PO410
> 2 _ RAHMEN, PUSH PULL, VARIANTE 14 METALL 8um Cu DIN 12833
LM o
. 1 SURFACE
@ H QUANTITY ITEM-NO. DESCRIPTION
~ B8 NP M STUFCK POS. BENENNUNG OBERFLAECHE MATERIAL
SBIEAS! COLOUR/FARBE
2hSEPZ2013
‘ THIS DRAWING 1S A CONTROLLED DOCUMENT. |DPYN - o
DIMENSIONING AND TOLERANCING PER GPS (ISO STANDARDS) CHSK' e TLSEP2073 r—N TE TE Connectivity
" DIMENSTONS: TOLERANCES UNLESS M STRELOW
MASSE INHE | TEN: OTHERWISE SPECIFIED: APVD 2LSEP2073 [ vame
' - mm ALLGEMEINTOLERANZEN pR[o[EUCST[s’jERCETTUNGER VARTANT Mﬂ JACK METAL
i) o o ROYIEEL 0 s VARTANTE 14, JACK METALL
i C Eig é Etg f-Z APPLICATION SPEC [ATéA
! il 4 PLC + . VERARBE ITUNGSSPEZ. SIZE | CAGE CODE | DRAWING NO RESTRICTED TO
° - ZEICHNUNGS-NR. NUR FUER
271.840.1 o MATERIAL ) FNI<N31LSEH/6§ER§[<AEEL[HE/FARBE GWEEWI?EHHTT 790 A 2 00779 ©:2W2087W B
- _ Customer Drawing /KUNDENZEICHNUNG |ussssre 11 |aarr 2vns | B2

1471-9 (3/13) ‘



4 3 ’ 1

LIsH ‘ RELEASED FOR PUBLICATION 2014 MATED W ITH. PROJEKT NR.. REVISIONS
V CHT FREI FUER VEROEFFENTLICHUNG PASSEND ZU: PR J-13-000001658
(C) copyriGHT 201 Tyco Electronics AMP GmbH ALl RIGHTS RELSERVED. , — ACNDERUNGEN
Y ALLE RECHTE VORBEHALTEN. 2120864 S 70 ‘ SO MFAOS @ B LTR DESCRIPTION DATE DWN APVD
BESCHREIBUNG

- SEE SHEET 1 - - -

A MOUNTNG-CYCLE:
- APPLICATION SEE INSTRUCTION SHEET 411-18568

A PARTS PRE-ASSEMBLED
A PART NOT SHOWN

b PACKAGING:
- CONNECTOR SET PACKED INTO BLISTER PACKAGE
- BLISTER PACKAGE PACKED INTO CARTON

A MONTAGE:
- VERARBEITUNG STEHE MONTAGEANWEISUNG 411-18568

A TEILE VORMONTIERT
A TEIL NICHT DARGESTELLT

b VERPACKUNG:
- STECKER SET IN BLISTERVERPACKUNG VERPACKT
- BLISTERVERPACUKUNG IN KARTON VERPACKT

2--1 AS SHOWN
2-=1 WIE GEZEICHNET

T
JIMENSTON IN ASSEMBIED COND T TON RECOMMENDED CUT OUT . TE
Se)
MASSE IM ASSEMBLIERTEN ZUSTAND CMPFOHLENER BLECHAUSSCHNITT 3 ORDER-NO.
SCALE / M 3.2 =
o BESTELL-NR.
QN
SCALE / M 32
- 7001 0.9 1 § | BLISTER PACKAGE é - PET
(38) (L7 .1) v i — - - BLISTERVERPACKUNG - PET
— l e B B 1 7 | INSTRUCTION SHEET M - -
LN = R _ MONTAGEANW E1 SUNG - -
— (20) — - (33) -— e S B B 1 6 ADAPTER FIBER OPTIC, VARIANT 14, JACK A BLACK ULTRADUR B&4LO6GL
g H ADAPTER FIBER OPTIC, VARIANTE 14, BUCHSE SCHW ARZ ULTRADUR BLLO6GL
| =~ B B l, 0 ROUND HEAD SCREW M3 - STEEL
- . b M LINSENKOPFSCHRAUBE M3 - STAHL
| L[] A B B I, I, 0-RING SEAL FOR IP67 PUSH PULL FRAME BLACK EPDM
T\ | 0-RING DICHTUNG FUER 1P67 PUSH PULL RARMEN SCHW ARZ SHORE 70
(i B B 1 3 FLAT GASKET FOR [P67 PUSH PULL FRAME BLACK EPDM
A Jj FLACH DICHTUNG FUER IP67 PUSH PULL RAHMEN SCHW ARZ SHORE 50
/ F’Q = B B 1 2 ASSEMBLY, ADAPTER, REDUCED FLANGE SIZE, A BLUE -
Hl — DUPLEX, LC, SR-SR, SINGLEMODE BLAU -
X [ 2120870 9 i i 1 1 [FRAME, PUSH PULL, VARIANT 14 METAL 3-5um Ni OVER 7P0410
g O RAHMEN, PUSH PULL, VARIANTE 14 METALL 8um Cu DIN 12833
m
N o H QUANTITY ITEM-NO DESCRIPTION SURTALE
LM (e P
o i Y STUECK POS. BENENNUNG OBERFLAECHE MATERIAL
COLOUR/FARBE
:%: L A‘ B 1 THIS DRAWING S A CONTROLLED DOCUMENT. [P¢' ) o ZLSEP2013 -
\+ DIMENSIONING AND TOLERANCING PER GPS (ISO STANDARDS)I ciy 2LSFP20T3 —_ TE TE Connectivity
" v " -I\ DIMENSTONS: TOLERANCES UNLESS M STRELOW
R MASSEINFE 1 TEN: OTHERWISE SPECIFIED: | APYD 2LSEP2013 [wane
UL Jj mm ALLGEME INTOLERANZEN pye[oﬁuch[s’jECETTUNGER VARTANT Mﬂ JACK METAL
‘ :" - 271.8+0.1 _ ? Etg jig% PROD%K&SEF}’EZQAZO7 VARTANTE 14, JACK METALL
- =1 v 02 FIBER OPTIC, LC, SINGLE MODE
4 PLC + VERARBE ITUNGSSPEZ. SIZE | CAGE CODE |DRAWING NO RESTRICTED TO
NGL ES/W INKEL 12° - ZEICHNUNGS-NR. NUR FUER
MATERTAL . FINISH/OBERFLA&[HE/FARBE évEEv\/I?[HHTT fﬁ u 2@ A 2 OO 77 9 @EZ q 2 O 8 7q -
_ B Customer Drawing /KUNDENZEICHNUNG |upsssrae 11 |aarr 3vw 6 | B2

1471-9 (3/13)



4 3 ’ 1

[1sH ‘ RELEASED FOR PUBLICATION 207 MATED W ITH PROJEKT WR. REVISIONS
V CHTE FREI FUER VEROEFFENTLICHUNG PASSEND ZU: PR J-13-000001658
(C) copyriGHT 201 Tyco Electronics AMP GmbH ALL RIOHTS RESERVED. ' — ACNDERUNGEN
y ALLE RECHTE VORBEHALTEN. 212086k Size |ISO 14405 P TR DESCRIPTION DATE DWN | APVD
BESCHRE IBUNG

- SEE SHEET 1 - - -

A MOUNTNG-CYCLE:
- APPLICATION SEE INSTRUCTION SHEET 411-18568

A PARTS PRE-ASSEMBLED
A PART NOT SHOWN

b PACKAGING:
- CONNECTOR SET PACKED [INTO BLISTER PACKAGE
- BLISTER PACKAGE PACKED [INTO CARTON

A MONTAGE:
- VERARBEITUNG SIEHE MONTAGEANWEISUNG 411-18568

A TEILE VORMONTIERT
A TEIL NICHT DARGESTELLT

b VERPACKUNG:
- STECKER SET IN BLISTERVERPACKUNG VERPACKT
- BLISTERVERPACKUNG IN KARTON VERPACKT

3--1 AS SHOWN
3--1 WIE GEZEICHNET

S
DIMENSION IN ASSEMBIED CONDITION RECOMMENDED (0T OUT = TE
MASSE IM ASSEMBLIERTEN ZUSTAND CMPFOHLENER BLECHAUSSCHNITT = ORDER-NO.
SCALE / M 3.2 SLALL A S BESTELL-NR.
(e
@) BLISTER PACKAGE - PET
4 (38) - B (L2.7) - o= 7040.1 0.9 - - 1 8 BLISTERVERPACKUNG A B PET
[ —— —t
) INSTRUCTION SHEET - -
- (20) - - (33) - n % - - 1 '/ MONT AGE ANW E 1 SUNG M - -
P — ] — _ B 1 4 ADAPTER FIBER OPTIC, VARIANT 14, JACK A BLACK ULTRADUR BLLOBGL
e S ADAPTER FIBER GPTIC, VARIANTE k. BUCHSE SCHW ARZ ULTRADUR BALOGGE
I AT = - i } L | ROUND HEAD SCREW M3 - STEEL
nu | . LINSENKOPFSCHRAUBE M3 - STAHL
hamme ) ﬁ" O-RING SEAL FOR IP67 PUSH PULL FRAME BLACK EPDM
I W D ) \ {} N \ i - - b b 0-RING DICHTUNG FUER P67 PUSH PULL RAHMEN SCHW ARZ SHORE 70
/—%—: _ B 1 3 FLAT GASKET FOR [IP67 PUSH PULL FRAME BLACK FPDOM
ﬁ; FLACH DICHTUNG FUER IP67 PUSH PULL RAHMEN SCHW ARZ SHORE 50
X [X 2208704] - - B 1 2 ASSEMBLY., ADAPTER, REDUCED FLANGE SIZE, A BF IGE -
= o DUPLEX, LC., SR-SR, MULTIMODE BEIGE f
[ Ji ; _ B 1 1 FRAME, PUSH PULL, VARIANT 14 METAL 3-5um Ni OVER /POL10
S 3B | T RAHMEN, PUSH PULL. VARIANTE 14 METALL gum Cu DIN 12833
LA M S NG
o A QUANTITY DESCRIPTION SURPACE
| TEM-NO.
OBERFLAECHE
STUECK POS. BENENNUNG MATERTAL
) COLOUR/FARBE
j THIS DRAWING IS A CONTROLLED DOCUMENT. DWSN HASS 24 SEPZ073 -
Y ! DIMENSIONING AND TOLERANCING PER GPS (ISO STANDARDS)I ciy 2LSFP20T3 —_ TE TE Connectivity
DIMENSTONS: TOLERANCES UNLESS M STRELOW
N MASSE INHE I TEN. OTHERWISE SPECIFIED: | APVD 74LSEP2013 | name
" ] mm ALLGEME INTOLERANZEN pye[oﬁuch[s’jECETTUNGER VAQ ‘ ANT Mﬂ JA[ K METAL
- A e L VARIANTE 14, JACK METALL
=1 2o 02 FIBER OPTIC, LC, MULT! MODE
4 PLC + VERARBEITUNGSSPEZ. SI1ZE | CAGE CODE | DRAWING NO RESTRICTED TO
+£2° - ZEICHNUNGS-NR. NUR FUER
MATERTAL FNIEILSEH/EE\/EF‘%QT/EEL[HE/FARBE WEIGHT AZ ©:2q2087q
_ _ GEW ICHT 61.29 00779 B
_ B Customer Drawing /KUNDENZEICHNUNG |upsssrae 11 |aoarr Lvw s | B2

1471-9 (3/13)



4

B e e —
v CHTE

RELEASED FOR PUBLICATION 2014
FREI FUER VEROEFFENTLICHUNG

MATED W ITH:
PASSEND ZU:

(C) copyriGHT 201

Tyco Electronics AMP GmbH

ALL RIGHTS RESERVED.
ALLE RECHTE VORBEHALTEN.

2120864

L--1 AS SHOWN

L--1 WIE GEZEICHNET

(52)
(36)

OIMENSTON IN ASSEMBIED CONDITION
MASSE IM ASSEMBLIERTEN ZUSTAND
SCALE / M 3.2
(38) _ - (53.3) _
(20) (L4.2)

RECOMMENDED CUT OUT
FEMPFOHLENER BLECHAUSSCHNITT

PROJEKT NR.:

REVISIONS

Size 150 14405 ()

PRJ-13-000001658 AENDERUNGEN

DESCRIPTION
BESCHRE IBUNG

DATE DWN APVD

- SEE SHEET 1

A MOUNTNG-CYCLE:

- APPLICATION SEE INSTRUCTION SHEET 411-18567
A PART NOT SHOWN
3 PACKAGING:
- CONNECTOR SET PACKED INTO BLISTER PACKAGE
- BLISTER PACKAGE PACKED INTO CARTON

b APLICATION ACC. IEC 60076-3-117
AND INTERFACE DIM.

A MONTAGE:

- VERARBEITUNG STEHE MONTAGEANWEISUNG 411-18567

A TEIL NICHT DARGESTELLT
3 VERPACKUNG:

- STECKER SET IN BLISTERVERPACKUNG VERPACKT
- BLISTERVERPACUKUNG IN KARTON VERPACKT

b ANWENDUNG NACH IEC 60076-3-117
UND SCHNITTSTELLENMASSE

SCALE / M 3.2
» % 2001 _ 0.9
O
I
L = — ] .
| 3
= O
! i 1
| \
l
il -
R
NS
N M
!
j !

S
- TE
(e @)
< ORDER-NO.
o BESTELL-NR.
—
BLISTER PACKAGE - PET
- - 1 I BLISTERVERPACKUNG A PET
INSTRUCTION SHEET - -
- - 1 O | MONTAGEANWEISUNG M .
B B L, 5 ROUND HEAD SCREW M3 - STEEL
LINSENKOPEST HRAUBE M3 . STAHL
B B L L O-RING SEAL FOR P67 PUSH PULL FRAME BLACK EPDM
0-RING DICHTUNG FUER IP67 PUSH PULL RAHMEN SCHW ARZ SHORE 70
B B 1 3 FLAT GASKET FOR P67 PUSH PULL FRAME BLACK EPDM
FLACH DICHTUNG FUER P67 PUSH PULL RAHMEN SCHW ARZ SHORE 50
_ _ 1 ” AMP-TW IST-6S SL JACK, SIDE EXIT, W/0 DUST COVER - -
AMP-TW IST-65 SL BUCHSE. SEITLICHER AUSGANG, W /O STAUBSCHUTZKAPPE : :
B B 1 1 FRAME, PUSH PULL, VARIANT 14 METAL 3-5um Ni OVER /P0O410
RAHMEN, PUSH PULL. VARIANTE 14 METALL & um Cu DIN 12833
SURFACE
QUANTITY ITEM-NO. DESCRIPTION
OBERFLAECHE
STUECK POS. BENENNUNG MATERTAL
COLOUR/FARBE
THIS DRAWING IS A CONTROLLED DOCUMENT. DWSN HASS 24 SEPZ073

DIMENSIONING AND TOLERANCING PER GPS (1SO STANDARDS)

CHK 24SEPZ013
M. STRELOW

DIMENSTONS:

TOLERANCES UNLESS

=TE

TE Connectivity

. OTHERWISE SPECIFIED: APVD 2LSEPZ2013 [name
MASSEH‘%HFEDWEN' ALLGEME INTOLERANZEN PFEO6UC§T[S}jEQCETTL\N5EQ VARTANT Mﬂ JACK METAL
S PROYIREL VARTANTE 14, JACK METALL
=—3® Phe 03 - (AT6, SIDE EXIT 90°
_ APPLICATION SPEC
j Etg i VERARBEITUNGSSPEZ. SIZE | CAGE CODE | DRAWING NO RESTRICTED TO
NGL ES/W INKEL =2 ° - A 2 6@\}%%%&3{}9@87q NUR FUER
MATERIAL F IN1SH/OBERFLAECHE /FARBE WEIGHT
B B GEW ICHT 84.10 00779 = -
- - Customer Drawing /KUNDENZEICHNUNG |upsssrae 11 |aar Sww | B2

1471-9

(3/13)



RELEASED FOR PUBLICATION
FREI FUER VEROEFFENTLICHUNG

2014

MATED W ITH:
PASSEND ZU:

Tyco Electronics AMP GmbH

LL RIGHTS RESERVED.
LE RECHTE VORBEHALTEN.

2120864

5--1T AS SHOWN
5--1 WIE GEZETCHNET

Size 150 14405 )

UIMENS [ON

INCASSEMBIED CONDITTON

SCALE /M 37

M ASSEMBLIERTEN ZUSTAND

(53.33)

(L4 .3)

(52)
(36)

i
WEREPRLLLLLE

~

ntM‘M\le

(HERREY

— ‘Lcyl

RECOMMENDED CUT OUT
EMPFOHLENER BLECHAUSSCHNITT

SCALE /M 37

20401 0.9

3.5 OR

'ﬂﬂ THREAD
h

\ '\
1.840.1

28.540.1
3640.1

- 271.8+0.1

PROJEKT NR.:
PRJ-13-000001658

REVISIONS
AENDERUNGEN

DESCRIPTION
BESCHRE [BUNG

DWN APVD

- SEE SHEET 1

Zﬁl MOUNTNG-CYCLE:

- APPLICATION SEE INSTRUCTION SHEET 411-18567

Zfl PART NOT SHOWN

3 PACKAGING:
- CONNECTOR SET PACKED

- BLISTER PACKAGE PACKED

L APLICATION ACC. IEC 60076-3-117

AND INTERFACE DIM.

Zﬁl MONTAGE

INTO BLISTER PACKAGE
INTO CARTON

- VERARBEITUNG SIEHE MONTAGEANW EISUNG 411-18567

ZCX‘TEH,N\[HT DARGESTELLT
3 VERPACKUNG:

- STECKER SET IN BLISTERVERPACKUNG VERPACKT
- BLISTERVERPACKUNG IN KARTON VERPACKT

b ANWENDUNG NACH [EC 60076-3-117

UND SCHNITTSTELLENMASSE

i
—
O
< ORDER-NO.
o BESTELL-NR.
LM
LT T kit /N i o
INSTRUCTION SHEET - -
- 1 6 MONTAGEANW E ISUNG M -
B l, 0 ROUND HEAD SCREW M3 - STEEL
LINSENKOPFSC HRAUBE M3 - STAHL
B I, I, 0-RING SEAL FOR P67 PUSH PULL FRAME BLACK EPDM
0-RING DICHTUNG FUER P67 PUSH PULL RAHMEN SCHW ARZ SHORE 70
B 1 3 FLAT GASKET FOR P67 PUSH PULL FRAME BLACK EPDM
FLACH DICHTUNG FUER 1P67 PUSH PULL RAHMEN SCHW ARZ SHORE 50
AMP-TW IST-6S SL JACK, W /0 DUST COVER - -
- 1 Z AMP-TW IST-6S SL BUCHSE. W /0 STAUBSCHUTZKAPPE - -
B 1 1 FRAME, PUSH PULL, VARIANT 14 METAL 3-5um Ni OVER /P0O410
RAHMEN. PUSH PULL. VARIANTE 14 METALL 8um Cu DIN 12833
SURFACE
QUANTITY ITEM-NO. DESCRIPTION
OBERFLAECHE
STUECK POS. RENENNUNG MATERTAL
COLOUR/FARBE
THIS DRAWING IS A CONTROLLED DOCUMENT. DWSN HASS 24 SEPZ073 -
DIMENSIONING AND TOLERANC ING PER GPS (ISO STANDARDS)I ciy 2LSFP20T3 —_ TE TE Connectivity
DIMENSTONS: TOLERANCES UNLESS M STRELOW
MASSE INHE | TEN: OTHERWISE SPECIFIED: APVD 2LSEP2073 [ vame
mm ALLGEME INTOLERANZEN PFEO5UC§T[S}jEQCETTL\N5EQ VAQ \ ANT M# , JA[ K METAL
o o YL VARTANTE 14, JQ[K METALL
{:::}gﬁ% é Etg f'Z APPLICATION SPEC [ATéq EXTT 180
4 PLC + VERARBE I TUNGSSPEZ. SIZE | CAGE CODE | DRAWING NO RESTRICTED TO
NG FS/W INKEL +2° - ZEICHNUNGS-NR. NUR FUER
MATERTAL F INISH/OBERFLAECHE /FARBE
) i 679 |A 200779 [C=2120871 -
_ B Customer Drawing /KUNDENZEICHNUNG |uisssrae 1.1 |aiarr Gwns | B2

(3/13)




	Contact us
	Sheet 1
	Views
	new_view_1
	new_view_2
	links_3
	new_view_12


	Sheet 2
	Views
	new_view_32
	new_view_33
	links_34
	new_view_35


	Sheet 3
	Views
	new_view_6
	new_view_8
	links_9
	new_view_13


	Sheet 4
	Views
	new_view_7
	new_view_10
	links_11
	new_view_14


	Sheet 5
	Views
	new_view_19
	new_view_20
	new_view_22
	links_23


	Sheet 6
	Views
	new_view_25
	new_view_26
	links_27
	new_view_29



